
2013 Skate Canada Mountain Synchronized Skating Championships

Elementary Synchro  - Free Program 2

Duncanettes  14.89 8.10  6.79  0.00  0.00

Name Element Score Prog Comp Score Bonus Deductions Score

2013-01-25 to 2013-01-27

Duncan FSC,BC/YT

Club

( Referee's Report )

Rank

1

ScoreGOE

Base

Value

Executed

Element# J1 J2 J3 J4 J5 REF

 1 C1-D3 0.50 0.00 0 0 0 -1 0 - - - - -1  0.50- -

 2 L1 2.00 0.00 0 0 0 0 0 - - - - 0  2.00- -

 3 I1+pi 1.70 0.00 0 0 0 0 1 - - - - -1  1.70- -

 4 W1 2.00 -0.10 0 -1 -1 0 0 - - - - 0  1.90- -

 5 B1 2.00 0.00 0 0 0 1 0 - - - - -1  2.00- -

 8.10

x - credit for second half, base value multiplied by 1.1                                                           * - invalid element, scored as zero     e - jump take off with wrong edge

d - D1,D2,D3 & D4 represents deduction in base value for  missing requirement             < - underrotated jump << - downgraded jump

FactorProgram Component

 1.00 2.25 2.00 1.50 1.50 1.75 - - - - 1.25  1.75Skating Skill - -

 0.50 2.00 1.75 1.50 1.25 1.50 - - - - 1.25  0.79Transition/Linking Footwork - -

 1.00 2.00 2.00 1.75 1.75 1.50 - - - - 1.25  1.83Performance/Execution - -

 0.50 2.00 2.25 1.50 1.50 1.50 - - - - 1.00  0.84Choreography/Composition - -

 1.00 2.00 1.75 1.50 1.50 1.25 - - - - 1.00  1.58Interpretation - -

 6.79

Deductions

 0.00

Versions: CSS(12.03), SOV(12.03.01), SP(12.03.01)Date:27-Jan-2013  9:22:58AM

 



2013 Skate Canada Mountain Synchronized Skating Championships

Elementary Synchro  - Free Program 2

Langley Crystal Brites  14.07 7.90  6.17  0.00  0.00

Name Element Score Prog Comp Score Bonus Deductions Score

2013-01-25 to 2013-01-27

Langley FSC,BC/YT

Club

( Referee's Report )

Rank

2

ScoreGOE

Base

Value

Executed

Element# J1 J2 J3 J4 J5 REF

 1 B1 2.00 -0.10 -1 0 0 1 -1 - - - - 0  1.90- -

 2 C1-D3 0.50 -0.10 -1 -1 0 0 0 - - - - -1  0.40- -

 3 W1 2.00 0.00 0 0 1 0 0 - - - - 0  2.00- -

 4 L1 2.00 0.00 0 0 0 1 0 - - - - 0  2.00- -

 5 I1+pi 1.70 -0.10 0 -1 0 0 -1 - - - - -1  1.60- -

 7.90

x - credit for second half, base value multiplied by 1.1                                                           * - invalid element, scored as zero     e - jump take off with wrong edge

d - D1,D2,D3 & D4 represents deduction in base value for  missing requirement             < - underrotated jump << - downgraded jump

FactorProgram Component

 1.00 1.50 1.75 1.75 1.50 1.50 - - - - 1.25  1.58Skating Skill - -

 0.50 1.50 1.25 1.50 1.25 1.25 - - - - 1.25  0.67Transition/Linking Footwork - -

 1.00 1.75 1.50 1.75 1.75 1.50 - - - - 1.00  1.67Performance/Execution - -

 0.50 1.50 1.75 1.75 1.25 1.25 - - - - 1.00  0.75Choreography/Composition - -

 1.00 1.75 1.50 1.50 1.50 1.25 - - - - 1.25  1.50Interpretation - -

 6.17

Deductions

 0.00

Versions: CSS(12.03), SOV(12.03.01), SP(12.03.01)Date:27-Jan-2013  9:22:58AM

 


